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4. Sorghum is considered as 'Camel crop' because of

(A) Deep root system

'..jJIf' Resistance to drought

(C) Shallow root system

(D) Nutrient exhaustiveness

(A) ~\9LDIT"" G6l.JIT ~601LDULj

(B) 6l.JIDL,1f1601UJ !!>lTffiJ/£6l.J6U6Il::9i

(C) ~\9uSl6U6Il1T G6l.JIT ~601LDULj

(D) 1l'::!;::9i8;/Jim If;Iglf;l8;@)til !!>6M601LD

5. 'The crops that vegetatively grow in the first year and bears flowers and fruits in the second

year is called

(A) Annual crops

~ Biennial crops

(C) Seasonal crops

(D) Perennial crops

~(I!j u u5lIT (Y)!!>6U 6l.J(l!jL::!;~6U 6l.JOOITalf1601UJ"-I til &Oilg6lirrLIT6l.J19I 6l.J(l!jL::!;~ 6U \do \do::!;!!>6ULD!D!))Itil /£lTtU/£601OO !!>ri-ffiJlf;I

6l.JOOIT6l.J601!!> . u u5lIT/Jim or..., @)JDlut9Luu(ij\If;I6MID""

(A) ~(I!j 6l.J(l!jL

(B) &Oil(I!j 6l.J(I!jL
(C) /JiIT6Ili£l60161l

(D) U6Il 6l.J(l!jL
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6. Point out the wrong one in the followingstatements about perennial weeds.

(A)" grow for more than two years

"(B) produce seeds more than once in their life time

" (C) reproduce by seeds and vegetative parts

~ easy to control

7. The average "temperature requirement for rice is

(A)

(C)

20-22°C

27-3 1°C

~ 21-37°C

(D) 31-35°C

o

(A)

(C)

20-22°C

27-310C

5

(B) 21-37°C

(D) 31-35°C .

i
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8. Match the following:

(a) Sedges 1. Opuntia sp.

(b) Total root parasite 2. Facultative weeds

(c) Xerophytic weeds 3. Triangular stem

(d) Apophytes 4. . Orabanche sp.

(a)

~3

(B) 3

(C) 3

(D) 2

(b)

4

4

2

3

(c)

1

2

4

1

(d)

2

1

1

4

£\i?ffi~LQJ!D<>6l!D GUlT(Iljibi91ffi

(a) , GffilT<>6l~ ~ 6,mb 1. 5luu~L"hulT 6iuCiIfl6iu

(b) C'P@G6lJ iT~ L@6lilrro;onfl 2. U ITffi@GLI'l-6lJ ffi<>6l6!Tffi6IT

(c) U IT<>6l6U)Bl6U!OIT6lJ ~ ~ ~llb . 3. C'P8;GffilT_ !06lilrr@

(d) ~GulT<>6luL6iu 4. ~ ITU1T';".El 6iuCi1f16iu

(a)

(A) 3

(B) 3

(C) 3

(D) 2

AAODI19

(b)

4

4

2

3

(c)

1

2

4

1

(d)

2

1

1

4

6



9. Seed rate for rainfed Ragi is

(A) 5 kg/ha

(C) 7.5 kglha

..

~10kg/ha

(D) 15 kg/ha

(A) 5 ffilGruIT/Q!illJ)d;GL"

(C) 7.5 ffilGruIT/Q!illJ)d;GL"

(B) 10ffilG6lJIT/Q!illJ)d;GL"

(D) 15ffilG6lJIT/Q!illJ)d;GL"

10. What is the amino acid produced during water stress period in plants?

(A) .Cystine (B) Methionine

(C) Tryptophane ..JIIIf Proline

11.

(A) 6lW6'lLar

(C) "l-rIluGLfT •••Guar

Agrisilvipastoral agroforestry
" components

~ Crops + Trees + Past~re

(C) Trees + Pasture

(B) QLD!ii~GllJIT6'l~ar

(D) LjG~IT6'l6lJar

system IS the construction of which oC"the following"

(B) Crops + Pasture

(D) Crops + Trees

.$W"";""L6tJ !DlPIm G6tJmIT";"" CY' Q)6'l6lJu LjQ) u ~u Lj G6tJmIT";"" 6tJ~!ii~ L LtD GTIiiQ i!>)i5i!> anL@"ffilar

"ru 6'l6tJ 1lJIT" "- mm i9I?

(A) G6tJmIT";"" uu51""m + LD~ffiJ"m+ ~6tJ~U uu51""m

(B) G6tJmIT«i<rruu51""m + ~6tJ~U uu51""m

(C) LD~ffiJ"m+ ~6tJ~U uu51""m •

(D) G6tJmIT";"" uu51""m + LD~ffiJ8;m

o 7 AAOD/19
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12. Which of the following statements are correct?

1. Forests increase local precipitation by about 5 to 10 percent

2. It reduces temperature in forests (3-8°C)

3. Forests do not conserve both soil and water

4. It protects us from physical, chemical and noise pollution

"'" 1, 2 and 4

(B) 1,2 and 3 .

(C) 2, 3 and 4 .

(D) 1,2,3 and 4

(A) 1,2LOriJ(!)ILD4

(B) 1.2 LOriJ(!)ILD3

(C) 2. 3 LOriJ(!)ILD4

(D) 1,2,3 LOriJ(!)ILD4

'iII!f" Pure forests

(D) Uneven aged forests.

13. Which forests are composed almost entirely of one species, usually to the extent of not'less '
than 50 per cent?

(A) High forests

(C) Mixed forests

GT)iJi!'6lJ6'''J;8; ffiIT(b1ffiQr~Gg 6lJ6<lffillJITrn 6lriJJJ5lrnI!;6oJi!' 50 6l5IC,lg8;ffiIT(b1ffi~8;@j GL06\lITffiU GluriJJJ5l@8;@jLD

(A) "-llJIT ffiIT@ffiQr (B) ~llJ ffiIT(b1ffim

(C) ffi6\lUL.j8; ffiIT@ffiQr (D) U6\l6lJllJ~ ffiIT(b1ffiQr (<!'>I) 6lJrnLD

AAODI19 8 o



14. Recreation forestry is also called as.

(A) Social forestry

~ Aesthetic for~stry

(C) Farm forestry

(D) Extension forestry

"

15. How many types of agro foresting systems are there based on'functional basis?

• I

(B) 3

(C) 4 (D) ,5

o

(A) 2

(C)' 4

9

{B) 3

(D) 5

AAOD/19
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£~B;<OiML .@""",",""UJU QUIT@~~B;

(a) t5l""rnro QLDIT@jITI8;~If1GLL:_

(b) GLDrrt5l fOoooU

(c) B;GUJITQ)lrn

(d) """GB;ITQ"ro

1. growth retardant

2. stomatal closing anti transpirant .

3. film formIng antitranspirant

4. reflectant type antitranspirant

1. 6lJ6TTIT••If1~ iEG\uurrrn

2. .@""Q)~ ~""6TT (YlG\LD,ffilJlT61S1uGUIT8;@j~ iEG\uulTrn

3. GLDrDULQ)LD"-@6lJIT8;@jLD ,ffilJlT61S1uGUIT8;@j~ ~GluulTrn

4. 1Jl.ttl6T~QlJITQ)l8;@jLD ,ffilJlT61S1uGUIT8;@j~ ~GluulTrn

(a)

(A) 2

(B) 2

(C) 3

.(D) 2

AAODI19

. (b)

3

4

2

1

(c)

4

3

1

4

(d)

1

1

4

3

10



17. Vesicular:Arbuscular Mycorrhiza (VAM) which have symbiotic association with plant roots
are types of fungi .

.~ Endomycorrhiza (B) Ectomycorrhiza

(C) Aspergillus (D) Penicillium

Q6)J/fl';;@j"'1T1T- ~ ITUQu@j"'ITIT .., 1ll';;C:811T..,I)61T (VAM) u uSlIT Q 6"1-"ffi1~ C:6lJIT"c:GTTIT0 ""-L0 6lJ1T\9

:2...uSlltllUIT" 6lSlGTTffiJ @j.$l~!D !d>~61T-.rtb 6lJ..,,,.., lU C:6IT)t~~

18.

(A) 6T""'C:LIT"'1ll';;C:"1T"'1)61T'

(C) ~QuUIT1J2lGiJ",Qu

Howmany soil textu.ral classes are there'1

(A) 10

(C) 9

(B) 6T';;C:LIT"'lll';;C:"IT"'1) 61T

(D) QU6O\l66l5llUtb

'IIIf 12

(D) 14

(A) 10

(C) 9

(B) 12

(D) 14

19. Poor quality irrigation water application with sprinkler leads to -~--- symptom in
plants.

(A) leaf curl .

...,JIIf' leaf burn

(B) whip' tail

(D) shredding of leaves

~I)tb @j"'!D)t~ UITIf6<T~6<JI), 19I"",~ffi1 Q~ffi1u~';;"<!96lSl ~",tb UlU~U(ij1~~tb QUIT@~, uuSlltlGiJ..
~!Dl@j!Dl "1T_uu(ij1tb ..

o

(A) @..,,,, "<!9~tb
(C) 6T1tl)t~@..,,,,

11

(B) 6ITL..,L 6lJITGiJ

(D) @..,,,,.;; QffiITL0~GiJ
AAOD/19
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20. Wh7 of the followingare highly salt tolerant crops?

,""". Rice, sugarcane (B) Mustard, wheat

.(C) Pulses, sesamum (D) . Peas, gram

. (A) Q)llro. ffi(lljWY

(C) uUJ~ 6U6"ffiffiGiT.6TGiT

(B) ffiG'@), GffilTi9JGIDl1l

(D) ULLIT...tl, QffilT<,irrGIDL8;ffiLGID6\l

21. The composition of soil particles viz., sand, silt and clay is known as

(A) Soil consistency.

VJIIf' Soil texture

(A) l1l"'" )b1GID6\l::t~iDar

(C) l1l"'" )llUJW

(B) Soil structure

(D) Soil bulk density

6Tar~ ~GID~8;ffiUUG'$IiDi9J.

(B) l1l"'" ffiLLGIDl1lUY

(D) l1looomlar ~LfT::t~

22. Excess soluble salt concentration In root zone restrict plant water uptake leading to

~Plasmolysis

(C) Glucolysis

(B). Electrolysis

(D) Osmosis

Q""l-~ar G6UrT U@)~u516U ~~ffiUU"l-UJIT6m ffiGID~UJ8;""-"l-UJ"-.uYffiOOIar ~LrT::t~ ffilT_UULLlTro, ~i"ar p,rT

6TG'::ti9J8;QffiITGiT~W ~iDar @)GID!J)i>i9J IOJJDuG'w.

(A) ~GIDiD8;@)~WY U@)Ut51UJ6U(Pl"asmolysis)

(B) uSlarU@)ut51UJ6U (Electrolysis)
(C) l1lITGlj"rT8;ffi6i>~U@)ut51UJro (Glucolysis)
(D) "ru~G' U~Glj::06U(Osmosis)

AAOD/19 12 o



23. The water is not suitable for irrigation, when the electrical conductivity is more than

(A)

(C)

0.25 dSm-1

0.5 dSm-1

(B) 0.75 dSm-1

..!}If 2.25 dSm-1

(A) 0.25 GlL.8'.LE-l

(C) 0.5 GlL.8'.LE-l

24. . Atrazine will be persistent for .

(A) 14 days

...jI{" 18months

(B) 0.75 GlL.8'.LE-l

(D) 2.25 GlL.8'.LE~l

(B) 36 months and more

(D) 2 years

(C). 18 l1lfT~ri.Ja;cir

(B) 36 l1lfT~ffiJa;cirl1llDWU:>~~lD@j Gl1l6U.

(D) 2 6lJ@Lri.Ja;cir

25. Soil textural class having equal proportion of sand, silt and clay

(A)

(C)
Clay

Sandy clay loam

(B) Silt loam

.,fJIIf' Loam

13

•
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26. Close growing ornamental plants used to form certain designs in the soil surface is known.

as

(A) Hedge

(C) Topiary

(B) Edge

..vIf Carpet beds .

~"'~LDL.L:2;~6U ~",ffiJ/liIT~" QIf"l-/li"'GTTQ)!i(!9Ii;$1)!iL@ U"'QJ"'/li "-(!9QJfi.!/li..,GTT"-(!9QJITIi;@jLD~"'LDUI51Qr

QUllJrT llJITi9I?

(B) 61p5l11J~",ffiJ/liIT~ )!i"'LUIT"'~ GQJ6\\1

.(D) ~..,~ ~",ffiJ/liIT~U UIT:2;~/liQr

27. A miniature replica of a natural landscape is known as

(A) . Dish garden

~ Sakai.

(B) Terrarium

(D) Bonsai

(A) ~L@ G~ITLLLD

(C) IfIi;/liIT.u

(B) /li";"''''''-IT"l-G~ITLLLD

(D) GUITQrIfIT.u

28. \Vhich of the following ornamental plant is suitable for hanging basket?

~ Asparagus (B) Bougainvillea

(C) Acalypha (D) Hibiscus

(C) ~/liIT6\\1UIT

AAOD/19 14

(B) /liIT$I~u6J,

(D) QlftbU(!9:2;~
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- 29. Composed magnesium-aluminium-iron silicate soil is .

(A) Perlite (B) Peat

$ Vermiculite (D). Sphagnum moss

(A). Qurrb<lGUL

(C) QQJrru\1@)b<lGUL

(B) ClL

(D) GiuGU8>QTtDi£l~LGl

30. Which one of the ornamental plant is propagated by leaf cutting?

(A)

(C)
Hibiscus

Chrysanthemum

(B) Ixora

~ Sansevieria

(A) QlftDu(f9~i£l

(C)QIf@J QJ ibi£l

(B) ~L.,s]U!,j,

31. The non-germination of seed when placed in favourable conditions is technically known as

(A) Seed maturation ~ Seed dormancy

(C) Seed immaturation (D) Seed death

o 15 AAOD/19
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32. Which of the followingis not the functional importance of-a lawn?

(A) Dust stabilization ./Flower colours

(C) Heat dissipation. (D) Noise abatement

33. The fast method of lawn establishment is

(A) Seed sowing

¥Turfing

(B) . Plugging

. (D) Dibbling of roots

(B) LjQlIDGl!bQl .

(D) . GGlJrT IDGliOQl

34. Which of the followinggrass is not requiring mowing?

(A) Bermuda grass

(C) Buffalo grass

(B) St. Augustine grass

~ Zoysia or Korean grass. , .

AAODI19

(D) Qa;ITrI1llJrn (<!9I) 1£ITuJ5IllJIT LjQl
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35. A progeny of single, homozygous, self p~llinated plant is called

¥ Pure line

(B) Synthetic

(C) Composite

(D) "Hybrid

::06011tLJfTrn, ~(ti::o u","Tl..jrnLtLJ"::o<;irr lDB;~~::O C:"r'rli;rnffi uuSlr'ra;OOI<;irr,,~::o~a;ffi

~.." ~Ii;a;u u 0:tJ!Di9J.

36. What amount of light falling on earth is utilised in photosynthesis by plants?

(A) 2%

(C) 0.5%-

(B) 1%"

~0.2%

\d,uIluSl<;irr C:11l6U GlS1@Lb ~rfIw ~OOIuSl6U 6T{ti::ornrn ,,::oGlS1£l::oLb. G",,!-a;ffi ~OOI•••C:"r'rli;rna;li;a;fTa;

UtLJ<;irru0{tii9J£l!Di9J?

<)

(A) 2%

(C) 0.5%

17

(B) 1%

(D) 0.2%
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37. An inbred crossed to a tester with a wide genetic base (open pollinated variety, synthetic,

double cross) is called

(A) Double cross

(C), Test cross

~Topcross

(D) Triple test cross

'''-LQr L51lD)i>1b.@~a;ffiJa;GiT (inbred) u~)i>1b LD~U@] Qa;rr.,;"Tl.... .@~a;ffiJa;GTTrr<im'I£1lD)i>1bLDa;~)i>1bQJ6>la;a;GiT,

Qlbrr@juy .@~a;ffiJa;GiTLDrDWlb.@~LGmL~ ~LG\ .@~a;ffiJa;~LQr a;@ ~LG\ GiffrUUlbW@j QUWIT '

(A) .@~L6>lL a;Q)uy (Double cross),

eC) Glfrrlb6>l<im'a;Q)uy (Test cross)

(B) GLDGiJ;'Q)uy (Top cross)

(D) (YlQrW Glfrrlb6>l<im'a;Q)uy (Triple test cross)

38. What is the maximum germination % for certified seed production' of wheat and maize?

(A) 90%,90%

..JjiIf .85%, 90%

(B). 85%, &0%

(D) 80%,80%

Ga;rr!9l6>lLD LDrDWlb LDlia;rr••GlfrrGTTii;I£1GiJIfrrQriPI 61Sl6>l1b "-rDuii;I£1Ii@jii; Glb6>lQJwrr<im' ('P6>lGTTuyii;I£1111Qr

~~a;uLlfLDrra; ,"?,QJrriPI.@Q1jIia;GQJ.,;",.G\lb

(A) 90%,90%

(C) 85%,90%

(B) 85%,80%

(D) , 80%, 80%

39. National seed corporation was established in the year

(A) 1962 VJII'f 1963

(C) 1964 (D) 1965

(A)

(C)

AAOD/19.

1962

1964
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(B) 1963

(D) 1965



40. The method useful for the improvement of local varieties of self pollinated crop is ..

(A) Pedigree selection

..vi!'" Mass selection

(B) Reciprocal selection

(D) Bulk method of selection

(A)

(C)
1f)!;!"i5l ~!"rrGlj

fJ'{b!" (Mass) ~!"rrGlj

(B)
(D)

41. The photoreceptor of molecule which absorbs light for process of photosynthesis is

.$ Chlorophyll (B) Phytochrome .

(C) Cryptochrome (D) UV pigments

(A)

(C)

. .
U6~611JLD

42. Which chemical is used to induce male sterility in wheat without affecting female fertility?

(A) ..Maleic hydrazide

$ Etherel

(B) Compound RH 531

(D). EMS

~"IT i916'OlLDu51Qlq\,";" LDGllLG'{b !"Girr6!'lLD "-(Ilj6lJ IT8;" GT)!;!" ~6lJi5l u51IlJQl QUIT (IljciT "-U ~1lJ IT.$\8;.$\lDITrr"ciT. IWi9I

. Q U.,;., LDGllLG' {b !"Girr6'OlLD6'Ol1lJUITi5luU i5lQl6'OlGll

o 19

(B) "ITLDUGlj";"L RH 531
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43. The enzyme which is linked with photosynthesis is

J,Rubisco (B) Lipase,

"

(C) Proteinase (D) Nitrate reductase

44.

(A) (lljt51GillGilifT(Rubisco)

(C) t51GgfTI<j.GGmGill(Proteinase)

----- is c~lled or Noble cane

\IIIf' S. Officinarum

(C) S. lndicum

(B) <l51uGuGiIl (Lipase)

(B) S. Barberi

(D) S. Peru vianum

(A) lf8;ili[tD s21t51.ro1GmfT[tD

(C) ,68;$[tD ~';;'"l-$tD

(B) 68;ili[tD ufTirc:,fil

(D) 68;ili[tD GluQ!ioUlUJfTGmtD

45. Grapes fan leaf disease paleogen is transmitted by the vector

(A) Aphids

""'" 'Nematode

(B) , ,Thrips

(D) Whitefly

AAOD/19 20 o



46. What is the name of the vector for yellow vein dearing in bhendi?

..fill" Whitefly (B) Leaf hopper

(e) Stem borer (D) Fruit borer'

(A) Q6Um..,6fT IT

47. What is the scientific name of rice weevil?

(A) Triboluim confusam

(C) Rhizopurtha dominica

<!91rfl61 ",,-rn 6u ""'"l-rn <!91iD1GlSlUJ.u Q U lLJIT6T6ilT6l5T?

(A) L..,[G:U rmSllLJLb ffiGwn51'bI>"Lb

(C) ..,[G:"ITUIT~~IT G:LITu51..1lffiIT

$ Sitophilus ~ryzae

(D) Helicoverpa armigera

(B) 61LG:LIT",uQ)oo 6jl..,[G:"

(D) Q!"IDGlSlG:ffiITQ6UITUITs!<bITu51~[IT

48. The toxicant which brings about death of the pest species bymeans of contact is called

(A) 'Stom'ach poison ~ Contact pqison

(C) Fumigant poison (D) Nerve poison

\,j,661 QffiITGUGlSl)!life; \,j,1f61u51rn "-LGlSlrn G:LDGUQ~IT~ITY G;rJDuLL6liLrn \d,1f61..,lLJ QffiITGU@IILb[ij))i;~GlSl""lib::b1rn

QUlLJIT 6Trn6l5T?

o

(A) 6Uu51JDIDJ GlSl""l Lb

, (C) 6UITlLI)Bl"'Q) GlSl""l Lb

21

(B) Q~IT@ GlSl""lLb

(D) )!l~Lby GlSl""lLb
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49. Pepper leaves with galls on the margins are caused by

(A) Top Shoot borer

¥ Marginal gall thrips

(B). Poilu beetle.

(D) Termite

(A) Weedicide

50. "kittleson's killer" is a

(C) Insecticide

4 Fungicide

(D) Nematicide

(C)

51. Paddy blast is introduced into India from

(A) Philippines

~ Sri Lanka

(B) China .

(D) Bangaladesh

AAOD/19. 22 (}



52. Tokra is a type of .

(A) Nematode

~ Phanerogamic parasite

(B) Deficiency disorder

(D) Poisonous mushroom

. 53. Water troughs in goat shed should be provided at the rate of

(A) one for 20 animals ..,jIlff' one for 25 animals

(C) one for 30 animals . (D) . one "for 35 animals

(A) jjl~ Q::OITL...Lq. - 20~@8\5';;@j

.. (C) . jjl~ Q::OITL...Lq. - 30~@8\5';;@j

(B) jjl~ Q::OITL...Lq. - 25 ~@8\5';;@j

(D) jjl~ Q::OITL...Lq. - 35 ~@8\5';;@j

54. The mean daily feed intake by a commercial layer chicken is

(A) 90-95 gm

(C) 100-105 gm

(B) 95-100 gm

$ 1l0-1l5gm

o

(A) 90-95 £lIJITLD

(C) 100-105 £lIJITLD

(B) 95-100 £lIJITLD

(D) 110-115 £lIJITLD .

23
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55. Number of feed troughs to be kept in a goat shed

(A) one for every 25 animals

(C) one for every 15 animals

(B) one for ev~ry 20 animals

~one for every 10 animals

(A) 1J'Q') Q~fTL"l-- 25 <!IbGiB;\5d;@j

(C) 1J'Q') Q~ri-L"l-- 15 <!IbGiB;\5d;@j

(B) ~Q')Q~fTL"l-- 20 <!IbGiB;\5d;@j

(D) 1J'Q') Q~fTL"l-- 10 <!IbGiB;\5d;@j

-I;.

56. Floor space required for an individual Ram

/3.2 m2 (B) 2.8m2

(C) 2.4 m' (D) 2.0 m2

(A) 3.2 d'i9I')"lDLLlT

(C) 2.4 d'i9IlJWLLlT

57. The optimum feed conversion ratio in boilers

(B) . 2.8 d'i9IlJWLLlT

(D) 2.0 d'i9IlJWLLlT

(A) 4.0

(C) 3.0

(B) 3.5

~1.8

(A) 4.0

(C) 3.0

AAODI19

(B) 3.5

(D) 1.8
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58. Heifer is mated only after it attains more than ---- of the adult body weight.

(A) 50% VJlIf' 60%
(C) 70% (D) 80%

.$1Gurl a;6M!!5l6M"-UO GTrnL, Ua;6l5l6M"-L6iJ orrn udl6iJ

Q8'tUUJ uu@.$1!Di9I.

(A) 150%

(C) 70%.

(B) 60%

(D) 80%

59. For optimal cross ventilation, the width of the poultry house should not be wider than

(A) 26 ft

(C) 30 ft

~28ft

(D) 32 ft

(A) 26 ~"l-';;@j

(C) 30 ~"l-';;@j

(B) 28 ~"l-';;@j.

(D) 32 ~"l-';;@j

60. Standa:d Wid:hof double.row cattle shed is . ~ ~.'.

(A) /.5 ~ 8,_ m ~ 7,9 - 8./ m

(C) 8.4 - 9.2 m (D) 8.9 - 9.7 m

o

(A) 7.5 - 8,2cELuT

(C) 8.4 - 9,2 cELLIT

25

(B) 7.9 - 8.7 cELLIT

(D) 8.9 - 9.7 cELLIT
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6l. Fertilization takes place in of a cow.

(A) . cervix (B) ovary

~
fallopian tube (D) uterus

62. Power is given to tractor through

J Engine,

(C) Transmission

(B) ~_LlD

(D) 8>(l9u",u

(B) Clutch

(D) Hydraulic

(B) $1mLBo

(A) Transmission

63. In between engine and gear box----is fixed.

~Clutch

(C) Brake (D) Steering system.

AAOD/19 26

(B) $1mLBo
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64. When the grains fall from top to bottom, hot air is passed to dry the grain is referred as

(A) .flat bed dryer

(C) fluidised bed dryer

~eontinuous flowdryer

(D) sun drying

. fF~lOrT6llIlllJffiJfficir G:enG:Q) [ii)(IljP;i!iI' gG:W ,6lS1(':fltb G:u rTi!iI, ffiLUULL ffirTID6"Ol!DQ"@)I::tibl "-Q)ir::ti!iltb CY'6"Ol!D

<!IJ,@jtb

(A) IOL6"OlLllJrT6'T U(ij\"6"Olffi ,,-Q)ir::tibl

(C) uSllOuu(ij\"6"Olffi ,,-Q)ir::tibl

(B) QlOrTLiriF6IllJrT6'T S'LL ,,-Q)ir::tibl

(D) @;rTlllJ <!IJ,IDlDQ)rTci>"-Q)ir::ti!il611i!il

65. In deep bed drying, thickness of grains is more than

"lit' 20 em (B) 30 em

(C) 40 em (D) 60 em

Q U rTi!iI611rTffi <!IJ,Wen rT6'T .!JI (ij\"@j "-Q) ir::ti!illOci>CY'6"Ol!Du51ci>, "-Q)(Ilj tb IOrT6llIlllJ ffiJffiffil6irr "-llJ ~tb . ---- G:enGil

[ii)(Ilj"@jtb.

(A) 20 Q",tE. (B) 30 Q"tE.

(C) 40 Q".tE. (D) 60 Q"tE.

66. Thickness of grains in thin layer drying is normally upto

VIIIf' . 20 em . .' (B) 30 em

(C) 40 em , (D)' 50 em

(B) 30 Q"tE,

(D) 50 Q,,:tE.

o

Q U rTi!iI611rTffi Q enci>Q\lllJ .!JI (ij\"@j "-.Q) ir::ti!illOci>CY'6"Ol!Du51ci>, "- Q)(IljLb IOrT6llIlllJ ffiJffiffil6irr "-llJ ~tb

<!IJ,@jtb.

(A) 20 Q".tE.

(C) 40 Q".tE.
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67... is constructed, when there is no place to discharge the sewage.
.(A) Cess pool

~Soakpit
(C) Bore hole latrine

(D) . Septic tank

ffiWJ61iffiGirQQJffi1GIlJ!DJDuuG'Lb ~U@ffiGir ~~LDffiffiUUL ~lU61HTiD 61Q) ~LffiJffiffi16\l ~~iD~ffillJ ~~LDULj
ffiLLUU G'8iI""!Di9I.

(A) ffiWJ61i8ilu@@j

(B) "-.JDli@jffiLb@jWJffiGir

(C) i91~WlLJGir6TTffiWJQJ~!D

(D) ffiWJQJ~JDffi ffiWJ61iffi~6TTG"ffirrl~i9ILDLffi" Q"uj8il""!D QiDITL"I-

68. In , 1-2% of grains are lost through birds, insects and rodents.
(A) Mechanical drying ~ Sun drying
(C) Flat bed dryer. (D) Rotary dryer

Q QJuSlG1SI6\l"-.Q) IT~i9I iD6\l

GIJITLLrrl "-.Q)ITliiibl

(B)
(D)

CY'<iIDJDuSl6\l, 1-2 "iDdJ iDLb iDIT6llf11lJffiJffiGir U JD<iIDQJffiGir, 1d.,,61ffiGir LD!D.!!)ILb '" G1SIffiGir('pQ) Lb
G"iDu U G'~iDu U G'8ilJDi9I.

(A) ~1lJiI>ibllJ "-.Q)IT~i9IiD6\l

(C) iDL~LIlJ IT"" U G'ffi<iIDffi"-.Q)ITliiibl

69. More area is sprayed within a short time through .
(A) Bucket sprayer . . . ~ Power sprayer
(C) Foot sprayer (D) Hand operated sprayer

@j~JDiI>iDGJDIJ~ibl6\l ~iblffi ulJuLSl6\l ibllJQJ LD('9,!5i91QiDffi1ffiffiQJ6\lQ) ffi('9<>61IlJIT""i9I.. . <!')!,@jlD

(A) QJITffi11iiQiDffi1U U IT"" (B) <>61~"Iii QiDffi1UU IT""

(C) ffiITQ)IT6\l~llJffiffiUUG'Lb QiDffi1uUIT"" (D)<iIDffiIlJIT6\l ~~"~i9I ~llJffiJ@jLb QiDffi1uUIT""
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70. Required quantity of seeds from seed box is delivered through

(A) seed tube

$ seed metering mechanism

(C) planter

(D) seed drills

71. What is the process of making manure of.decomposablewaste is known as?

(A) Pulveri~ation

Composting
•

(B)

(D)

Neutralization

Disposal

o

(C)

.29 AAOD/19
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72. Identify the incorrectly Matched Pairs?

(i) . Loud Conversation 120 dB

. (ii) Scooter 65 dB

(iii) Jet Plane at take off 150 dB

(iv). Bus 40 dB

(A) (i), (ii), (iii)

./(i), (ii) and (iv)

(C) (ii), (iii) and (iv)

(D) (i), (ii), (iii) and (iv) .

(i) lf~iOLDfTB;Gu,"iOro 120 QL81uro

(ii) @@ 1fiJ,B;~GlJfTB;6OTW 65 QL81uro

(iii) QlllL ~B;fTl1J 6l5ILDfT6OTWLHDuu(1lwGUfTi9I 150 QL81u~

(iv) GU(r!jliii91 40 QL81uro

(A) (i), (ii), (iii)

(B) . (i), (ii), (iv)

(C) (ii), (iii), (iv)

(D) (i), (ii), (iii), (iv)
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73. .Pyrolysis of biomass through thermochemical process yields

(A) Producer gas ~ Charcoal

(C). Biogas (D). Ash

ffiITJiJw LjffiITib @W8;ffi~~GU "-.u'iliT6<lLDU QUIT(!96<lffi Q6Uuu G6U~u'illlJGU LDITWib@l8;@i "-.LU(£i~~6OfITciJ

$I6<lLUU&I

(A) "-.JiJu~~ .,-r\16UITIl..I

(C) IfIT_ .,-r\16UITIl..I

(B) <&I(£iULj8;ffir\1

(D) IfITUlUGU

74. Modern Charcoal retorts operating at about 600°C produces around ----.% of the

drymatter biomass as Charcoal.

(A) 15 to 20

~ ..25to35

(B)

(D)
20 to 25'

35 to 45

i!>GJ'J6Of ffir\1llJrT8;@iUl IfrTib60fUl 600 "l-$Ir\1 QIfGU.91llJoiu Q6UUU)&i6<l6\lu'ilGU @11J8;@iUl QUIT@&I ffiLDrTiT

-----lfib6l5l$libUl ffir\1. "-.6\liT "-.u'iliT6<lLDUQUrT(!9~8;@i )&iffiIJrT6Of<&Iffi6l5lGU$I6<lL8;$IlD&I.

75.

(A) 15 CY'ibGU20.

(C) 25 CY'ibGU35

Charcoal consist ----.% of Carbon.

(A) 55 to 65

.JIi1f"'" 75 to 85

(B) 20 CY'ibGU25

(D) 35 CY'ibGU45

(B) 65 to 75

(D) 85 to 100

o

(A) 55 CY'ibGU 65

(C) 75 CY'ibGU85

31

(B) 65 CY'ibGU75

(D) 85 CY'ibGU100
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(B)
(D)

76. Solar collectors used for home applications is

../' Flat Plate Collector

(C) Mirrorstrip reflector

Parabolic trough Collector

Fresnel lens collector

WL(9 .LuGlUrr,,;ffiJ,,;~Ii;@j ulUmu(9i!;lbuu(9Lil @;IT1lU<~'Ij,!D!DGil~uGlUrr,,;uu(9i!;~Lil .•rrib6OTLil

(A) LS1mrrL LS1GmL @;IT1lU.•li;i5l G.•,,;IT1Ii;@jLil.• rrib6OTLil.

(B) ,ttffiQJLL QJ"l-QJl1lrr6OT@j615l1i;@jLilG.•,,;IT1uurrm

(C) ~.m(9 ,,;.m_rr"l- Qurr('lj~uULL LS1IT1i5lublSluurrm

77. What is the decibel level above which unwanted sound is termed noise?
I

(A)' 40 dB

$80dB

(B) 60dB

(D) 100dB I
(A)

(C)
40 dB

80 dB

(B) 60dB

(D) .100dB

.78. Which of the followingis used for delinting of cotton seeds?

(A) .Hydrochloric acid "Sulphuric acid

(C) Nitric acid (D) Acetic acid

u('lji!;i5l615l6OTibuSlblSl('lj)i;~U~6OT" ,ttli;,,; .$Yl,,;.mLQJlDWffi GT)i;ib ~u51Q)Lil ~uGlUrr,,;uu(9i!;ibuu(9ffi1!D~?

(A) 6i>SilIDLGrrrr@jGmrrIT11i;~u51Q)Lil (B) . ,,;)i;Ib"; ~u51~Lil

. (C) 6OT)!iLIT11i;~u51Q)Lil (D)~81"l-1i; ~u51Q)Lil
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79. The most suitable biocontrol agent for the management of rice diseases in Wet lands.

(A)

(C)

Trichoderma Viride

Pyricularia oryzae

¥ Pseudomonas fluorescens

(D) Verticellium lecanii

(A) ~",,[8>G8irrQLlhDrr GlS1IT1~

(C) ""uIT18>~G6IlIT1wrr~",,[Gif

I 80. What is the Minimum isolation distance prescribed for hybrid rice seed production?

$ 100m

(C) 400 m

(B) 200 m

(D) 800 m

(A)

(C)
100t.ll

400 t.Il

(B) 200 t.Il

(D) 800 t.Il

•
81. In which of the followingcrop, Three line system is used for l~ybridseed production?

(A) Maize

(C) Cotton

(B) Tomato

.\J/lIf'Rice

£~8i.,;,rL6lJiDiJ)Jffi . 6T.IT>i!'ut61IT16il CY'@J6lJ~ 9LG\. CY'""!Dt616il 6lSIT1UJ 9LG\.@~8iJi.J8iffi "-iDu~:i1

QlfuJUJU uG\8J.m!Di9J?

o

(A)

(C)

33

(B) i!'8>8irrffil

(D) QID6il
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(D) UmblacherryKangeyam

-----cattlebreed has typical black and white body colour

Jersey ~ Holstein Friesian(A)

(C)

82.

(A) Q1Birlfl

83. Find the odd one out.

(A) Trichoderma Viride

(C) Bacillus subtelis

(B) Pseudomonas fluorescens

../}If Bacillus thuriengiensis

I
(A)

(C)

,~
84. Moisture content ofthe casing soil in milky mushroom cultivation

(A) 40 - 50% ~.50 - 60%

(C) 60~ 70% (D) 70 - 80%

(A)

(C)
40 - 50%

60-70%

(B) 50 - 60%

(D) . 70 - 80%
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. 85. Identify from the following manures, which is not a Bulky Organic manure.

(A) FYN VjI!/f" Oil cakes

(C) Poultry manure (D) Compost manure

£Gw @)!DlulSlLQj\cirm ~riJffilli OLgriJffiffilGil6T~ u('9L1lmrrm ~riJffiffi OLg QJ6'lffi6'lllJ •••rrir)i;ib~ ~GilQ) 6T<;OTW

ffi.m(!) lSl"\-B;ffi6l.ltil' .

(A)

(C).
~

Gffirr~uu...,.6'l_ ,,-gtil

. (B)

(D)

86. The average dressing percentage of broiler (chicken) is

'(A) 50

(C) 60,

(B) 55

.JIl!f 70

(A) 50

(C) 60

(B) 55

(D) 70

87. LAMPS established to meet the credit needs of

. (A) Weaker Section

(C) Medium farmers.

(B) Large farmers

~Tribal farmers .,
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88. Which is a traditional and simple aid to reach farmers easily?

(A) Flash cards

¥ Puppet show

(B) Flannel graph

(D) Overhead Projector

(A)

(C) Q u rnnl.D6U fn.:....LLO

"
89. Which of the following committee relates to revision in priority septor lending

"""" Nair Committee

(C) Narasimham Committee

(B) Gadgil Committee

(D) Sivaraman Committee

g~,sB;6linL6lJiDiDl6\) "-.mm @)QI',sB;ffil6\). \lJITIT i5GOl6\JGOllllu516\JITGOl@)QI'. (l!l6<r@lrflGOllll i9JGOlJDB;L6<r 6lJ~riJB;6\) I
(Priority sector lending) i!iIC'9~I5tb uiDiDl QI5ITLin,jGOlL\lJi9J

(A) )!iIT\lJir @)QI'

(C) )!i~61tbllltb@)QI'

90. Goal seeking behaviour is related with

"",", Motivation

(C) Communication

(B) Aspiration

(D) Evaluation
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91. Which one of the following teaching method is more time consuming?

(A) Exhibition (B) Method demonstration

'" Result demonstration (D) Group FORUM

iiI.u JDJDIGil or,ri; ili "JD t5l ~iliGil (if' 6"OliDu5I Gil~ ~" G)Dg Lb Gili6"Ol6UUU (b1$I iD@jJ?

(A) "er9~@jJ';;"ITc...8'l

(B) G IfUJGilciP6"OliD6l5lm .;;"Lb

(C) . GUITer9mITiliITg LD~ULj "ITc...(b1Lb GIfUJGil(if'6"OliD 6l5lm.;;"cD

(D) . (15@ 6l5l6UITili G)DgcD

92. Deposit Insurance and Credit Guarantee Corporation (DICGC) was set up in the year?

.(A) 1961

$ 1978

(B) 1971

(D) 1979

(A)

(C)
1961

1978

(B) 1971

(D) 1979

,
93. The study of behaviour of rural people and rural society is

(A) Applied Psychology ~ Rural Sociology

(C) Rural Psychology ED) Urban Sociology

,
"'W" If (Yl "cD LDJD!J)IcD 1f(Yl" LD';;" ffiI ar u..mrLj "6"Olm u JDJDIUJ U ,,"U t5l JD(15

o

(A)

(C)

37

(B) ""'g" 1f(Yl,,6l5lUJGil

(D) )D"g 1f(Yl,,6l5luJGil
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94. To procure a sizeable portion of the marketable surplus of food grains at incentive prices
from the farmers on behalf of the Central and State Governmentis a function of

(A)

(C)
Cotton Corporation of India

Coconut Development Board

(B) AGMARK NET

of India ~Food Corporation of India.

6lS16UIfITu5i,,<Tf1LlDi ('!i)i;i9I @jrfilL.JtSlCoL ~ ffi6l.j 6lS1dJU 6>1.,., "-U rIl iPIT..Il UJ"" ,,6>1ffi UlIT..Il UJ 6lS16>16IJu5i00 LDib%lUJ

LDdJl!)ILDLDIT)bI6IJ~~"B;"IT" Q"ITwC'PlOoo Qlfli.JlL~LD)bIl!)I6U""~%l-m QUUJIT

(A) @)i;%lUJ U('!i~%lB; "fJl"LD

(C) 1m)i;%lUJQIO-m6>1"" 6UffiIT6.<l6UITrIlUJLD

95. The period for short term loans is

(B) ~B;LDITITB;Q1!iL...

(D) 1m)i;%lUJ "-- 6l.jB; "fJl" LD

(A)

(C)
18months to 3 years

18months to 5 years

(B) 2 years to 4years

..¥ Hmonthll to 18months

(A)

(C)
18 LDITIO"""W C'PiPoo 3 6U('!iLrf,r"W.

18 LDITIO""ffiwC'PiPoo 5 6U('!iL"""W

(B) 2 C'PiPoo 4 6U('!iL"""W

(D) 6 C'PlOoo 18LDITiP"""w .

96. The method by which you can connect to a remote computer and download files over .the
Internet is

./fTP

. (C) SMTP
. (B) HTTP

(D) POP

(A) "-:o!.J .."l-.tSl

(C) .,-oiu.,,-w."l-.tSl
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(D) &~tSl
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97. Which among the following is not a search engine?

~ Chrome

(C) Yahoo

(B) Google

(D) Altavista

(C) lLJ ITaft

.. 98. HTML refers to

(A) Hyper Text Mobile Language

....;If Hyper Text Markup Language

HTML Gf""u~

(A) Hyper Text Mobile Language

(C) Hyper Text Markup Language

99. Two basic forms of computer graph~cs are

~ Bitmaps and vector graphics

(C) Paint brush and adobe

(B) aft@jffi.

(B) Hierarchical ToolMail Locator

(D) .Hyper Text Mail Language

(B). Hierarchical ToolMail Locator

(D) Hyper Text Mail Language

(B) Bitmaps and raster graphics

(D) Vector and line graphics

(A)

(C)
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•

100. . Richest source of protein among the crops is

,
(A) Cereals

.;/ Pulses

(B) Millets

(D) Tobacco

-----is an example for long day plant

¥Wheat

101.

(A)

(C)
Cotton

Sunflower

. (B) Rice

(A)

(C)

102. Weeds originating in a country, but growing in another country are known as

../II!'" Exotic weeds (B) Relative weeds

(C) Indigeneous weeds (D) None of the above
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103. Crops that are grown purely to feed the animals are

~ Forage crops

(C) Cash crops

(B) Silage crops

(D)' Cover crops

(C) u_uuu5lr'r .••ffi

104. At fiel? capacity of soil

(A) Macropores and Micropores are filled with water

(B) Macropores and micropores are filled with air

/ Macropores are filled with air and microp?res are filled with water

(D) Macropores are filled with water and micropores are filled with air

o 41 AAOD/19.
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105. ' Choose the correct Electrical conductivity (EC) level for very high salinity water

(A) > 2250 dsm-l

(B) > 225 dsm-1

(C) >22:5 dsm-l

~ > 2.25 dsm-l

106. -----is the unit of measurement of relative humidity.

(A) mm

(C) kmlhr

AAOD/19

(B) °C

~%
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107. Match the weather parameter with its unit of measurement:
(a) Wind direction 1. hours.

(b) Temperature 2. mm
(c) Dew fall 3. °C

(d) Bright sunshine 4. 0.360°

(a) (b) (c) (d)
(A) 3 2 4 1

(B) 1 3 2 4

~ 4 3 2 1
(D) 1 2 3 4

6lJ IT6OTI6'1611ffilTrr...fl ffi\58;ffilT aT ~ 60$L6'1 L QUIT «ljl!;~ ffi :

(a) ';IT ID!Dlrn ~ 6'18' 1. LD...fl
(b) Q6lJuu)b16'1611 2 ... uSiQ).,)1 LOLLi,

(c) u6OTIuQulT~6lj 3. °Q8'Q)"huoro

(d) tS1rrffilT8'LDlTaT@;IT!UJQ6lJ6Iflif8'LD 4. 0.360°

(a) (b) (c) (d)
J (A) 3 2 4 1

(B) 1 3 2 4
(C) 4 3 2 1

(D) 1 2. 3 4

108. What are the critical stages of irrigation for getting higher yield in Black gram?
(A) Germination and seedling stage
(B) Seedling arid flowering stage

'\IIf!f' Flowering and pod development stage
(D) Pod development and Grain filling stage

"- (5)!>~ U u51IT!Q) ~ ~ffiLD ITffi @;Q) Q U i!JI6lJI!ilDffiITffi (Lp8;B;1UJLDITffi )b ITUU IT8'aTLD Q 8'UJUJ G6lJ ••••."l-UJ U u51IT

U «lj6lJ "" ffiffi UJIT'" 6lJ? .

(A) (Lp6'1muYLD!Di!JILD ~mu:>uu51IT U«lj6lJLD

(B) ~mt.\>uu51IT LDWi!JILD\d,8;@iLD U«lj6lJLD

(C) \d,1!;1!iQ)LD!Di!JILDffilTW "-«lj6lJIT@iLD U«lj6lJLD

(D) ffilTW "-«lj6lJITI!iQ) LD!Di!JILD6lS16'1l!iffiffi )b16'1JD'4LDU«lj6lJLD

o 43. AAOD/19
[Turn over



109. Rainfed farming is practiced in areas receiving a mean annual rainfall of

..vtf" > 750 mm (B) < 750mm

(C) > 750 cm (D) < 750 cm

. (A) > 750 u51uS

(C) . > 750 Q/F.uS

(B) < 750 u51.uS

(D) < 750 Q/F.uS

110. In dry land integrated farming system how many goats should be retained at the end of
third year?

(A) 5 Male + 1Female

~ 20 Female + 1male
(B) 5 Female + 1Male

(D) 10Female + 10Male

CD IT"" IT6lJITrTI )fI6Uri.J" GTf16il~@ ri.J.$1",,_ Ji;10 u.o.r"" _llJ .CY'"" JDu5l6il eY'6irrJDITLb ""Ib.o.r G\ ~ 191i5lu5l6il o;r~iO""""
""IbG\"""ffi 10"" ",,6lJ~i91" Q"ITGlTffi6UITLb?

(A) 5 ""Ib.o.r + 1Qu.o.r

(C) 20.Qu.o.r + 1""Ib.o.r
(B) 5Qu.o.r + 1""Ib.o.r

(D) 10Q u.o.r + 10""Ib.o.r

111. -----is a suitable seed hardening chemical used for rice

.~ Potassium Chloride

(C) Sulphuric Acid
(B) SuccinicAcid

(D) Potassium di hydrogen phosphate

----- o;r6irrJDC::6lJi5lUQ u IT@GlTQ!Ji6il 6lSI6>liO""""" ""l-""u u G\;'!;iO"-%6l.I Lb'

(A) QUITLLIT61llJLb @iC::ffiIT""~G\'

(B) /F"6161lfJ,, <!'>Iu5I6ULb

(C) "Ji;10" <!'>Iu516ULb

(D) QUITLLIT61llJLb 6>lL ",,~L~1ll6irr UITffilC::UL
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112. Which of the following is correctly matched?

(A) Matchwood Simarouba glauca

~ Neem Azadirachta indica

(C) Subabul Sesbania grandiflora

(D) Eucalyptus Casuarina equisetifolia

(A) :£8;@i681lD~Ul """ lDt:'l> U IT$I "" 6TT1m

(B) GQJUlLj <$IIiIT"l-[IT8;L IT~ '"""l-8;a; IT

(C) a;UITLj6U Q,,<;iu'Guo,lllu .$1[IT,",,"t ,',GmIT[IT

(D) ""ib6tllD ~Ul Ga;",rII""IT ~8;$I6Q"L"t :,GuIT6lSIUJIT

i13. Which plantation has been recommended for coastal waste lands?

(A) Teak .JIfI'(' Casuarina

(C) Neem (D) Lebbeck

o

(D) QJIT""a;
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114. An area occupied by different kinds of trees, shrubs, herbs and grasses and maintained as
such is known as '
(A)

(C)
Pure forest
Multiple cropping

(B)
..;JIIf

Mixed farming
Forest

Qru6iJGru!J)l ruQ)ffillJITm l1l~ri.JffiGIT, LjiDrr Q6"l-ffiGIT. @j!J)lI@jQ6"l-ffiGITl1lrD!J)ItD ljrDffiGIT ~8;~u51~:;!jItD l1lrD!J)ItD
~6iJruIT!J)I QiDITLrr,ffi:;!jltblm(flj8;ffi8;/fft"l-UJ ImL~i5lrD@jU QUllJrr 6Tmm?

(A) Gru..:rITOO ffiITG\ffiGIT

(C) uQ)uu51rr 6IT@jU"l-

(B) ffiQ)UljU UOOQ)_

(D) ffiITG\

115. Choose the types of forestry followed under extension forestry:

I. Mixed forestry

II. Shelter belts! wind breaks

III. Linear strip plantations

(A) I only

(B) I and III

(C) II and III

..p!f' I, II and III

(A) '. I l1lLG\tD

(B) I l1lrD!J)ItD11I

(C) II l1lrD!J)ItD11I

(D) I, II, l1lrD!J)ItD11I
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116. Which chemical is used for seed hardening in rice?
(A) Zinc sulphate (B) DAP
(C) Calcium chloride .~ Pottassium chloride.

Q)!i6iJQ\1rD8ifTl5'T61S1601~8i"tl5'TUUGi~i91t.D~6U~ UQU fT(!9m ori91?

(A) !£1ffiJB>8'6iJ~UL. (B) ~,".t5l

.,' . (C) 8ifT6iJifhLJt.D@)~6lTfT601~Gi (D) QUfTL.L,fTifhLJt.D@)~rnfT601~Gi

117. Which of the following Categories come under agrisilvipastoral agro forestry system

I. Protein bank

II. Home gardens

III. Woodyhedge rows

IV. Mixed wood lots

(A) I and III

~ II and III

(C) II and IV

(D) .III and IV

.$W8i""'L6UrD!1)Jm or)i;Q~)i;~ 6U6018iUJ!DfTB>8im~6UrnfT"'" (yl6iJ601Q)U '-16iJu~U'-1 ~6UrnfT"'" ~l5'T~ ~L.L~~ar.$W
6U(!9£1ar!D l5'T? .

I. '-1~~ 6UffiJ£I

II. dlL.Gi~ ~~fTL.LffiJ8im

III. lD~~~GiU'-1 6UrIl6018'8im

IV. 8iQ)U'-1lD~~~~fTU'-1

(A) I lDrD!1)Jt.DIII

(B) II lDrD!1)Jt.DIII

. (C) .II lDrD!1)Jt.DIV

(D) III lDrD!1)Jt.DIV
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118. Natural. phenomenon occurring during any thunder storm accompanied by heavy
lightening or by volcanic eruptions is..

U6\lLDrrGm uSIQrGmWLciT ""-Lq-llJ LD6ID~ ~ 606\li91 .nI1LD6ID6\l Gl6lJLq-uL51ri>@;uL51ciT6lJQ!jtD.LD6ID~ _

G::orrciTlD,,;rr~_LDrr";6ljtD.

(A) Aeolian deposit

(C) Acid soil

(A) "rrri>w i91";'"'

(C) ~uSI6\lLDoW

(B) Saline soil

.'" Acid rain

(B) ,,"-6lJn-LDoW

(D) ~uSI6\lLD6ID~

I

119. Soil textural class which is the most suitable for crop growth'

(A) Clay loam

$ .Loam
(B) Silt loam

(D) Silty clay

. 120. If the total dissolved salts of irrigation water is 1664 mgL-l, then the EC of water is

urrlfGm .)!jITlQrGILD"!!;:,"';;";6ID~llJ';; ""-Lq-llJ ,,"-uL5IQr ~6TT6lj 1664 uSIi£I.6\\l-1 .,-rol6O. ~::OQr uSIQr"L!!;i9ItD ~lDQr

-----GlL.61.w-1 ~@;lb.

o

(B) 6lJoWUU uGl6ID";

(D) 6lJoWL6O ,,;GTf1

(B) 2.6

(D) 3.0

48

(A) ,,;GTf1uuGl6ID"

(C) uGl6ID";

dSm-1

(A) 2.0 .~2.6

(C) 1.6 (D) 3.0
•

(A) 2.0

(C) 1.6.
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121. Which of the following is incorrectly paired?

I. Rhizobium Legume crop

II. Azolla Oilseeds crop
\

III. Fianhia Non-legume crops

IV. Azospirillum Sorghum, pearl millet

(A) I .tIJ'ff'II
(C) III (D) IV

£G~ Q8iIT(!))"8iuuL(!)GlrGTT;:bku '"~ :56lJiDlT8i~66l_"8iUUL(!))GlrGTT~?

I. 66l~G"IT IS)llJLD UllJi))J 6lJ66l8i8iGlr

II. ~G"ITQ)IT ,"ooQ_1iJ Q\l~~8;8iGlr

III. IS)~lTffiJ£lllJIT U llJi))J~ 6\JQ)IT:5U uS1 IT8iGlr

IV. ~ G"IT.ro 66lUrTl6\JQ)LD . G"ITGTTLD,8iLDY .

I (A) I (B) II

(C) III (D) IV

I

122.

o

High sodium 'content in irrigation water causes .' of soil.

(A) Flocculation ~ Deflocculation
(C) Cementation (D) Aggregation

UIT""" P;rTl6\J'~::bI8i G"IT"l-llJLD ~('ljUU:5IT6\J "JIDu(!))w.

(A) wOO ~~L(!)):56\J (B)' wOO 51:5iD"l-~:56\J

(C) wOO ~('lj8i6\J (D)
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123. Consider the following statements:

Assertion (A)

Reason (R)

The phosphobacteria increases the P availability for plants.

The organic acids produced by this bacteria dissolve mineral phosphates
and .make it available to crop plants.

(A) (A) alone is true

~ Both (A) and (R)are true

.(B) (R)alone is true

(D) Both (A) and (R) are false

,.

&rDlPI (A)

@)b!" UfTGiuGUfTGU8;",-ITlllJfT~ri.J1616~u5IQ)ri.JI6"'''''' I6~UU!"fTciJ ~"'@J Ul6Oirr6OOfl~m.,.,.

16.,,~llJfT!" UfTGiuGULI6"'''''', 16"'~~@ Uu51r'rI6\58;@j.$l"'L8;@jUlfTlPI QlflU"-IUl.

(A)

(C)

124. Particle size analysis is based on

../ Stoke's law

(C) Poisel!ieu's law'

(B) Darcy's law

(D) Ohm's law

. Ul"",GiJ, @J6OirrLGiJUlrDlPIUl16.ITl~@l6ml6"'''''' L5lITl~@'"(b\8;@jUl ~yjQj '"iB!" Gl6fTLUfTL."L ~"l-UU"'LllJfTl68;

Ql6fT6OirrL@?

(A) GiuGLfT8;C:l6fTLUfT(b\

(C) ufTlU81GiJQ\l.niC:I6fTLUfT(b\
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(B) LfTr'r81Gl6fTLUfT(b\

(D) 'ii'UlGiuC:I6fTLUfT(b\
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125. The irrigation water with RSCvalue -----is safe.

(A)

(C)

1.25- 2.5 meL-1

1.5meL-1

(B) > 2.5 meL-1

~ < 1.25meL-1

UIT"6OT i1rf1@r .-r~61UJ C:"IT"l-UJtb ffiITn-UC:6OTL ~ffi6l.j

U IT@iffin-UUIT6OT@i.

(A) 1.25- 2.5 u51."LDIT6OTtb 61SI-1 (B) > 2.5 u\1."LDIT6OTtb 61SI-
1

(C) 1.5 u51."LDIT6OTtb 61SI-1 (D) < 1.25 u\1 ...•LDIT6OTtb61SI-1

126. The dwarf protective hedge is

127. Which of the followingis floral edging plant?

(A) Alternanthera ~ Gerbera

AAOD/19
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(B)Q1J6n-u~IT

(D) ffiIT161@r

(B) QUIT@r6OTITffiJ(".;.,-..,n

(D) ~6IlLD';"-LIT

(B) Alternanthera

(D) Allamanda

51

(A) QUIT@r6OTITffiJffi';"-..,n

(C) ""u61SIUJIT .

(A). ~';;ffiIT61SIuIT

(C) ffi!DWIT""W (~C:ffiGiJ)

(C) Pilea (D) Iresine

(A) Acalypha

.JIll!" Agave

o



128.' The ornamental plant suitable for low light indoor is

(A)

(C)
Caladium

Salvia

(B) Hibiscus

~ Sansevieria

(A) Qffi6lJIT,,"UJLb

(C) "ITQ)6lSlUJIT

129. The optimum electrical conductivity of a goodgrowing media of ornamental plants is

(A) Above3 ds/m' '.' ~.75to 3.0 ds/m2 '. .

(C) Above5 ds/m2 (D) Above 10 ds/m2

(A)

(C)
3 dslu'i2<&I~a;Lb

5 dslu'i'<&I~a;Lb

(B). 0.75 (LPi"Q) 3.0 dslu'i'

(D) 10 dslu'i2<&I~a;Lb

\

,-

-

130. Which of the followingprotected structure is suitable for rooting of cuttings of ornamentals
in tropical area?

o

(B) Hot bed

(D) Lath house

(D) LD~<&IG'lfD

52

(A)

(C)

Q 6lJU U LD6Il'ML6lJi!;~Q) <&I6lJri.J"IT~ 6 Q",,",,61f1GM G6lJ IT@i66Ia;G'l6TT GT61f1i"IT" "-JD Ui!;~ Q "liJ UJ "J'JDfD
UIT@jIa;IT8;a;UULLa;LLG'lLDuy GT@jI?

~ Mist chamber

(C) Cold frame

AAOD/19



131. The annuals for fragrant flowers is

~ Sweet pea

(C) .Lupin

(B) Sunflower

(D) Gomphrena.

(A) ffiGDL. UL.LITOOl

(C) ~t51~

132. Which of the following is annual climber?

(A) Clitoria

~ Sweetpea

(B) @;ITllUffiIT)i;!bl

(D) 6UITLITLDG\l6\\1

(B) Ipomea

(D) Clematis

.133.

. (A) . If""@) q~uLb

(C) ffiGDL. UL.LITOOl

Climber for fragrant flower is

(A) Bougainvillea

(C). Allamanda catharica

.~JasminUm auriculatum

(D) Clitoria ternatea

o

•
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134. When a shrub is planted on boundary of a garden for fencing, it is called as

~ Hedge

(B) Topia;y

(C) Trophy

(D) Carpet bed

<91~ @i:i; Gi" ITL.L:i;$1W G6lJ Q\lllJ IT," <916ll"" ,"ITgU Lji" rTQ"'''1-'""'' m i!'L (i)i <91~ @i1Ll(i)i:i;~ U:>G U IT~ <91",,6lJ .,-GiJ6lJITJ))J

<9I",,~8;,"UU (i)i8il!D~?

(A)' <9I6ll""'"lTg G6lJQ\lifQ","I-

(B) GLlTuL5lllJrTJ

(C) "I-gITL5l

135: In sunlight, Photosynthetically Active Radiation (PAR) corresponds to

wavelength.

(A) 100- 200 nrn

(B) 200- 400 nrn

~ 400-700 nrn

(D) 700-1000 nrn

(C) 400 - 700IDITG6OTITcDLLrT

(A)

(B)
100 - 200 IDITG60TlTcDLLrT

,
(D) 700 - 1000 IDITG60TlTcDLLrT
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136.. The process by which plant produces their own food is

(A) Respiration

~ Photosynthesis

(C) Photooxidation

(D) Transpiration

137. A large number of similar phenotype are selected and their seeds are mixed together to

constitute a new variety is called

(A) Pedigree selection

.;;#f' Mass selection

(C) Back cross selection

(D) Bulk pedigree selection

9 fbfbQQJ .ttlfbGfbIT!DlD .,;IT~GOOfla;.., ill Qa; IT""'L QJ ..,a;a;.., ill GfbrTaj Q" u"J ijjI ~ fb.m . 6l5I.., fb"'" ill 9.m i!JI G"rT fbijjl

"-@QJIT.;;a;uuGtb !W~a;fb~.mQIl"'lDllJIT""ijjI

(A). ".llifb~ (Pedigree) GfbrTaj

(B) 9fbfb (Mass) GfbrTaj

(C) L5i.m 9LG GfbrTaj

. (D) ""-L(&\ ".llifb~ (Bulk pedigree) GfbrTOlj
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138. Respiratory quotient for organic acid is

(A)

(C)
1.0

0.8

(B) 0.7

.JIIIf 1.33

(A), 1.0

(C) ,0.8

(B) 0.7

(D) 1.33

(A)' 'ijlffil"GIfr'r,;;mBi

(C) .ffigrr6l5lGurr';;@!IDQ>

'139. Glycolysis is a step in ----- process.

(A) Photosynthesis ~ResPiration

, (C) Transpiration' (D) Dark reaction

ailm", ';;lfQ\looQu ",,6irru~ ~-----QlflLJQ>(l!lm!D u516irr'ijl(l]>u@)ibIlLJlf@)Lb.

(B) BiGlJrr~itlDQ>

(D) . ~(I]>ffiailITlmlLJ

140. Male sterility and self incompatibility often means for .

(A) de taselling ,~ Genetic emasculation

(C) Hand emasculation (D) Fertilization

qo..w LDQ)L0itlD6irrmLDLDJDillILbBilLJ~- ';;BiuS16irrmLD(self incom pa tibili ty) $\9GlJ(l]>GlJ61l1GlJJDillI<;iT ""mID';;
@)!D1,;;ail!D~

(A) qo..w !d> ~BiJDillIlDQ>

(B) LDguW qo..wmLD .ffi';;BiLb(Genetic emasculation)

(C) mil; GlJ\PIqo..wmLD .ffi';;BiLb(Hand emasculation)

(D) <$(I]>itIDITlitIDGU
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141. Match List I with List II :

List I List II

(a) Azure blue 1. Farmer seed

(b) White 2 .. Breeder seed

(c) Golden brown 3. Foundation seed.

(d) Green 4. Certified seed

(a) (b) (c) (d)

(A) 2 1 4 3

(B) 1 2 4 3

$4 3 2 1

(D) 3 4 1 2

. GUIT1~1fI LDJDl!)ILDGUIT1~1fII "l-~QT QUIT0)Pii91ffi

GUIT1~IfI GUIT1~IfII

(a) ~@;ir~Qltb 1. lOlSlGUIfITuS1lOlSl~~

(b) QGUm~ffi 2. GUmWP;" lOlSl~~

(c) ~ffiJffi ffilTlOlSl/u\5uLj 3. . ~"l-UU~L lOlSl~~

\ (d) U66"6>lf 4. IfITQnl!)llOlSl~~,
J, (a) (b) (c) (d)

(A) 2 1 4 3

(B) 1 2 4 3

-I (C) 4 3 2 1•,.

'1
(D) 3 4 1 2
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142. . From which actinomycetes, Spinosad insecticide is derived?

(A) Bemesia tabaci ~ Sraccharopolyspora spinosa

(C) Ferrisia virgata (D) Nilaparvata lugens

(A) QuuSl81UJIT LUIT81

143. "Phosphine" gas is produced fromwhich fumigant insecticide?

~ .-Aluminiumphosphide (B) Ethylene dibromide

(C) Ethyl bromide (D) Ethylene dichloride

(B) ori!i~6151"", rnLljGgITrnUl0

(D) or i!i~6151"", rn L(~GGTTITrng0

(D) Mealy b~g

(A) <!'JI@)JuSl6>IlUJLDU IT'" rn U 0

(C) ",rn::OQ) ljGgITrnUl0

(C) Spodoptera

144. Which is the pest responsible to cause heavy curling of leaves and stunting of chilli crop?

.~ Thrips (B) Helicoverpa

AAOD/19 58 0



145. Howmany sex pheromone (pherodin SL) traps are installed in a hectare of cotton field to

trap the males of spodoptera./12 per hectare (B) 20 ~er hectare

(C) 30 per hectare (D) 35 per hectare

u@~iblu516iJ '-1G~IT~..IllLJlT6lS1"" qj,~ ~)!>!9JU\J~616"lLJ ffiQJIT!!>i!iI ~~uui!iJD@l GT~~rn6"OT ~6N8> ffiQJIT~61

(QuG~IT"l-"" GTGiuGT6iJ)GUIT!DI'ti>@ GT8>Gu\l6iJ rnQJ8>ffiU U (!)i.$1Wi!iI?

(A) 12/ GT8>GLIT

(C) 30 / GT8>GLIT.

(B) 20/ GT8>GLIT

(D) 35/ GT8>GLIT

146. Angoumoisgrain moth belongs to which family?

.-IJI!' Gelechiidae (B) Curculionidae

(C) Pieridae (D) Thripidae

IIi
I
I

I,,

(A) Q~61S1!£1£1GL

(C) rnuITIGL

(B) @lIT@l61S1lLJrr..llGL

(D) iblITIut51GL

147. Which is the most destructive insect pest on stored tobacco?

(;

(A) Scirpophaga incertulas

(C) Cofana spectra

(A) Giu.$1ITGUITGUffilT im""Q"ITL(i)QlGiu

(C) GffiITUU6"OT1TGiuQU8>L[1T

(B) Spodoptera marutia

..,;JiI!'f' Lasioderma serricorne

(El GiuGUITGLITUl<j-[1T LDQ96l@lLJlT

(D) GQl61GlLJITQLITLDIT Q"ITIffirrITG6"OT
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148.

-'."

A banana disease that has wiped out virupakshi~nana variety in Pal ani hills
(A) FusarIal wIlt .., Bunchy top .
(C) Bacterial wilt (D) Bract mosaic

U!J)6OflLDrnQlU U@)~a;ffil6U uuSlrflLUUG'LD Q\l<'9uulTB;81rulTrn!J) ~a;ffiJa;rnm CY'lDp51~LDITa;~W1~ili GlDlTlu I

(A) U\!d>G"rflllJ6U ruITL6U GlDlTuJ (B) CY'''l-B;Qa;IT15i!)JGlDlTuJ

(C) UITB;t..rflllJ6U ruITL6U GlDlTuJ (D) LDL6U GiliLD6UGlDlTuJ

149.. Find the odd one out
(A)

(B)
(C)..,r

Blacktip in Mango
Khaira disease of rice
Blossom end root of tomato
Black root in crucifers

150.

£\J) a;.;.TLru lDI))Jcir ili60fl~i!)J )51 lD@)LD~ rorn!D a;6llirrGl LSI"l- .

(A) LDITLDU!J)a;<'9u'-1 i9160flGlDlTuJ

(B) QlDlDuuSlrfl6U "rna;~IT" GlDlTuJ

(C) iliB;a;lTffil u!J) i9160fl~@a;6U

(D) CY'LrnLB;Ga;ITa; @6OTU UuSlITa;GTl16Ua;<'9u'-1 ~@a;6U

A ~t disease favoured by alkaline soil
..r;I) Verticillium wilt in cotton
(B) Fusarium wilt in tomato
(C) Sclerotiam wilt in Brinjal
(D) Club root in cabbage

a;mITLD6llirrU@)~a;ffil6U ililTru~ffiJa;rnm15 ililTB;@)LDGlDlTuJ ..

(A) u<'9~~ QruITL"l-816151llJLD ruITL6U GlDlTuJ

(B) iliB;a;rrffil U\!;j,G"rflllJLD ruITL6U GlDlTuJ

(C) a;15ilirfl Qu$lffilG~IT81llJLDruITL6U GlDlTuJ

(D) CY'Lrnu;; Ga;ITa; @)6llirrLIT)i;ili"l-GruITGlDlTuJ

r~
!,

l
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151. The main advantages of artificial insemination in cattle is

(A) well trained operators are not required

(B) animals in heat need not to be identified

(C) .pr,eventabortion

.$ need not to maintain bulls in the farm

QlflUJD6'l" C'P6'l!D "Q9~LL6IS1 ••• C'P8;ffiI",J )!i ••• 6'lUllUIT" "Q9lOuu(ij1GlJ~

(A) U u5\JD81 Q U JD!DGlJ6\J@IJ)!i IT"6ITGI06'lGlJ u5\6\J6'l 6\l

.(B) UlIT(ij1"ffil6\J U Q9GlJ ffiIIIJD816'l lU U JDr6\ <!91 dillU GGlJ.,;m-LITLD

(C) "Q9816'lI06'lGlJ 1O(ij18;ffiI!D~

(D) u.,;m-.;, "'" "ffil6\J "IT6'l m UlIT(ij1"6'l m GlJmIT8;" G~6'l GlJu5\6\J.., 6\l

152. Ageat which sexual maturity is obtained in commercial layer chicken

\.

(A) 14weeks

~ 18weeks

C'PL6'lL G"IT~"ffiI"'If~ITIfIT1 UQ9<OtJUl6'lLlLILDGlJlU~

(A) 14 GlJIT~ffiJ"6IT

(C) 18GlJIT~ffiJ"6IT

(B) 16weeks

(D) 20 weeks

(B) 16GlJIT~ffiJ"6IT

(D) 20GlJIT~ffiJ"6IT

153. Jersey heifer comes into first heat at the age of ---- months.

(A) 8-9 months # 10-12months

(C) 13-15months (D) 16-18months

o

(A)

(C)
8-9 UlITlOffiJ"6IT

13:15 UlITlOriu"6IT

61

(B) 10-12UlITlOriu"6IT

(D) 16-18UlITif,riu";6IT
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154. The success rate of pregnancy in ewes and does by artificial insemination is, . ..

(A) 35% ~ 40%

(C) 45% (D) 50%

G"'LUlD""/E QIl""JD /E('1j~LL~8;@j "-.Lu@itibuU@tO. GGlJwmrr@/Ew lJ)lD1!JItOG"'tOlJ)n5i q\,@/Effilm 61""6>1

.gLq.8;@jtO"'ib61S1$1ib to

(A) 35%

(C) 45%

(B) 40%

(D) 50%.

155. Required brooder temperature for chicks during the first week

. (A) 80°.85°F

~ 90°.95°F

(B) 85°.90°F

(D) 95°.100°F

(A) 80°.85°Urr'lm~L

(C) 90°.95°Urr'lm!illDL

156. Average length of gestation in sheep is

(A) 120 days

$ 147days

AAOD/19. 62

(B) 85°.90°Urr'lm!illDL

(D) 95°.100°Urr'lm~L

(B) 130days

(D) 167days

o
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157. The main advantage of intensive system of chicken rearing
(A) cost of infrastructure is low
(B) ammonia production is less
$ .birds al'e under continuous observation
(D) less spread of disease

;%6lSl1)(lp~!D C:16ITWl GUa"TU L51.m (lp8;ffihu)D.m ~ lJlW IT16 l6(!ljib U U G' GU!!jJ

(A) 'U':..I6L.L~lJlULj Q66116ljl6ar @j~!D6lj

(B) @j~!DGUITGm ~LDC:lJlITdlllJIT GUITIJ..I2...JDu~~

(C) . C:I6ITWll6ar QibITLir 16";"'16IT6llllf1uL516iJUI)ITlJlITI8;I6UUG'ffiI.m!D~

(D) C:)DITlU ul)6ljib6iJ @j~!D6lj

158.. The advantage of conventional barns for<:attleis
(A) cost of construction is less
(B) future expansion is easy

'\IJi1f' diseases are better controlled
(D) suitable for hot and humid conditions

Q 16ITL..L~16 (lp~!D uSl6iJ lJl ITG' GUGTTiruU ib.m (lp8;ffilllJ )D.m ~ lJlllJ IT16 l6(!ljib U U G' 6u!!jJ .

(A) . 16L..G'lJlITGm Q6Ql6lj @j~!D6lj

(B) 6lSlITIGUIT8;I6LD Q 6 lUGU!!jJor GIfI!!jJ

(C) C:)DITlUl6ar orGlflibIT16 16L..G'uuG'~ibQlITLD

(D) ~~16 QGUUUUl lJlJDi1)JLDFrI)UUibLD )bl~!D1I>1h I6IT611ri.JI6~8;@j "JJD!D!!jJ

159. Floor space required for adult cattle in covered area is
.(A) 3.0 m2 .JIiI'f' 3.5 m2

(C) 4.0 m2 (D) 4.5 m2

o

QI6ITLL~l6uSl6iJ ~(!lj UI66lSlJD@j ~GIfI8;16 C:GU.,;".tq.llJ ~L GU6~

(A) 3.06(911) tDL..Lir (B) 3.5 6(911) tDL..Lir

(C) 4.0 6(911) tDL..Lir (D) 4.5 6(911) tDL..Lir
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160. Thermal efficiency is more in

~ four stroke engine

(C) external combustion engine

(B) two stroke engine

(D) compression stroke engine

(A) )!ifTQr@)"'WI!JI .s"", ~Qr1£lQr

(C) . Q'6lJffil .,-,fl ~Qr1£lQr

(B) ~~..m@"'WI!JI .s"",~Qr1£lQr

(D) ~@:i;~tb .s"", ~Qr~Qr

161. In four strokeengirie, the compression ratio is

(A) 5:1 to.8:1

(C) .8:1 to 10:1

(B) 2:lto 4:1

~ 14:1 to 22:1

(A) 5: 1 CY':'DQ.l8:1

(C) 8: 1 CY':'DQ.l10:1

(B) 2:1CY':'DQ.l4: 1

(D) 14:1 CY':'DGU22:1

(A)

162. ---- is defined as the removal of moisture content from grains.

Screening ~ Drying

(C) Crushing (D). Grinding

AAOD/19 64

(B) "-6\)n-:i;~:'DGU.

(D) ~ 601~:i;:'DGU

o
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'(B) 'Relief valve

(D) Swirl plate'Pressure, regulator

Cut offvalve

----between spray gun and spray nozzlec~:mtrolsthe flowof chemicals.

~
(C)

163.

Gi!'ffilUUfT6M utbLjffi@jtb. Gi!'GTI1ULjQP66l..,ffi@jtb @66lLuSl6U GUfT(i9~i!'uuL"l-(i9ffi@jtb

~LL~66li!' ~fJ)I~i!'6ljtb ~6UQ)~ ~WJLOiblffiffi6ljtb ulU6MuG\41!D~,

----ibl~QJ

. (A) ffiL qj,u QJfT6U6lj

(C) ~@~i!'tb ffiLG\UUG\~~tb QJfT6U6lj

(B) ITl.ou QJfT6U6lj

(D) Giu6lS1ITl6ULS1GmL

(B) Dutch

(D) English

164. The word 'Agriculture' is derived from-----words. ,

(A) Greek

'.,jJI!' Latin

(A) £ITlffi(greek)

(C) Q)~P,6M

"~ffiITlffi6UlfiT","6M!DGlffT6U----- G LOfTWluSl6U@(i9)i;19IQJJ!>i!'19I'

(B) Li,a;

(D) qj,,,,,41Q)tb

165.' For easy penetration of soil through mould board plough adjustments made

, (A) Vertical suction

(E) Horizontal suction

~ Vertical and Horizontal suction

(D) Inclined suction

QJ66lm UQ)66lffiffi ffiQ)U66lU ~Q)~iblWJffi,"GTI166lLOlUfTffi ~66l\9QJi!'!D@jtb ibl!DtbuL GQJ66lQ) QlflUQJi!'!D@jtb

@66lLGQJGTI1ffiffiQffifTG\ffiffiuuLG\ffim..,

(A) GIf""@j~19I @66lLGQJGTI1(lfffi~6M)

(E) 4166lLLOLL@66lLGQJGTI1 (lfffi~6M)

(C) 'GIf""@j~19I LO!DfJ)Itb4166lLLOLL@66lLGQJGTI1 (lfffi~6M)

(D) IffTlU6ljUG\~i!'UULL @66lLGQJGTI1(lfffi~6M)
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\-
166: Harvesting of crops with more moisture and subsequent drying will

;

i
I,

(A) reduce the storage efficiencyof grains

~ increase the grain quantity

(C) reduce the pest and diseases in field

o66

G,"ITroIT ,"6>1mQtu~.;;@)tb ,"('96lSl

1Jl6lllltuIT G~ IT

~""L 6>1,"uLSl"l-"--rom ,"""m '"~.;;@)tb ,"('96lSl

,"""m QQJL"l- '"~.;;@)tb ,"('96lSl,

(D) reduce the cost of cultivation

... Q",tb6>1W Qp;ru IHT@)u"l-uSl6iJ ,"ITriJG!DITLL~6>11!>~~,"IT1.;;,"
~ mJDltu6>1W tu ITibi91.

(A)

(B)

(C)
(D)

167. In system of Rice Intensification, ----is used to improve the aeration.

~ Conoweeder

(B) Junior hoe

(C) Longhandle weeder

(D) Weeding hoe

AAOD/19
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168. In which year the Environment Protection Act was passed in India?

(A) 1984 ~ 1986

(C) 1991 (D) 1994

1
1,

(A)

(C)

1984

1991

(B) 1986

(D) 1994

169. Which of the following is not a part of Solid Waste Management?

(A) Reduce ..IJIIf'Return

"t
\
\
},

(C) Reuse

(A) @j""!D

(C) wID!ffi\llrt>81

(D) Recycle

170. Which of the following is most responsible for Ozone hole?

o

v;I!" Chloro Fluoro Carbon

(C) Carbon dioxide

67

(B) Methyl Iso Cynate

(D) Sulphur dioxide

AAOD/19
[Turn over



•

171. Producer gas consist of----% of Carbon monoxide.

(A) 5 - 11

~ 18~24

(B) 11- 18

(D) 24 - 35

(A) 5 CY'15Ql 11

(C) 18 CY'15Ql 24

(B) 11CY'15Ql 18

(D) 24 CY'15Ql 35
,

i
I

172. Gasification has thermo-chemical conversion efficiencies in the range of %.,
(A) 40 to 50

.(C) 60 to 70

'(B) 50 to 60

$ 70 to 90

(B) 50 CY'15Ql 60

(D) 70 CY'15Ql 90

.,-ITl61HTlLjGlJITB;lEQl (yl6llLO lEl1llTlT ----- 1f1561515 QGlJUU GGlJi5Iu5huQl 11lITlDIDi15Ql i51lD""m ~""LlU

CY'''l-lLjLO.

(A) 40 CY'15Ql 50

(C) 60 CY'15Ql 70

"-

Fludized bed reactor(D)
. ~ DowndraughtUpdraught.

-
Cross draught

In which gasifier air enters at the combustion zone and the gas leaves near the bottom of
the gasifies.

(A)

(C)

173.

"-)i;::o GlJ""lElU ITm QGlJU U "-lD u::5i51 GlJIT lLj lE6Il6>TIQl , lElTlD IPI .,- ITllLjLO .@L::5i51Ql "-LLj@i)i;i91LO, GlJITlLj lE6Il6>TI.m .

$19 u@ii51uS1Ql Q GlJ.TfiGlU IPIffillDi9I.

(A) G 11lQl "-)i; i9I .,- ITlGlJITlLj lE6Il.m

(C) GJ!iIT"-i5IIT .,-ITlGlJlTlLj lE6Il.m

(B) £19 "-)i;i91 .,-ITlGlJIT.y lE6Il.m

(D) uS115""Gu "-ITlGlJlTlLj lE6Il.m
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174. Thermal efficiencyof improved Chulha is around . %.

(A) 8-10%

..,' 15-20%

(B) 10- 15%

(D) 25 - 30%

t
(A) 8 CY"i!>6U10

(C) 15 QPi!>6U20

(B) 10QPi!>6U15

(D) 25 QPi!>6U30

175. .Which of the followingis a Secondary Air Pollutant?

. (A) Sulphur dioxide

(C) Carbon Monoxide

(B) Hydrogen Sulphide

~Ozone

176. -One langley is equal to

/ leal! em'

(C) 1Kcal!em2

o

(B) 1Kcal!m2

(D) 1cal!m2
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177. Identify the surface disinfectants used to clean the working area of mushroom production
units.

I. Mercury Chloride

II. Formaldehyde

III. Dettol

IV. Alcohol

(A) I and II (B) II and III

~ II, III and IV (D) III and IV

"ITmIT"" ~!D u:i;ilJ .., LDU..IIT""aft..., GlJ mIT" u@jilJ"..,m Lj!D:i;Q::IiIT!DW J!j"8iI,,mIT" U lU""U (BIU.., GlJ ".., m
"""'(BI LS1"l-
I. . UIT::IiI)If"@jGmIT"'I)(BI

III. QU:...LIT6U

IV. ~6U"s;l!D IT6U

(A) I LD!DWLbII

(C) II, III LD!DWLbIV (D) III LD!DWLbIV •i,

178. More than ---- percentage of the nutrient value of FYN losses through leading and
volatilization.
(A) 10

...JIIIf 50
(B) 25

(D) 75

U...,...,_ ~I):i;~~cirm If:i;i9I,,,,aft..., ~m6l5l6U -----If::li6l5l8il::li:i;~tD@j GLD6U~ITluLj VlLLLbLDtDWLb
~6l5IlU IT::Ii6U(lpGULb.@W""uu(BI8iI!Di9I.

(A) 10 (B) 25
(C) 50 (D) 75
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179. Ageat seasonal maturity in layer chicken is ~-- . -days.

(A) 90

(C) 110

(B) 100

.JIlIf 150

(A) 90

(C) 110

180. The origin ofmilkymushroom is

(B) 100

(D) 150

(A) China

¥ India

(B) Japan

(D) Europe

(B) e5UUIT~

(D) IBC:~ITUUIT

181. The average Nitrogen content of sheep and goat manure is ----percentage. ,

(A) 1

$3
(B) 2

(D) 4

Q"tbLDJD1 LDIDi!)Itb.Q6lJffimITL"l-@l~LlU 6Tif"""ffiffil6\l "~IT"ITllUITffi,,-ffim 1"~i9if"~i9J <!9Im6l.1 -----

"1"6lSl ffill"tb .

I~

, o

(A) 1

(C) .3

71

(B) 2

(D) 4
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182.. The removal of seed coat hairs and short fibres in cotton is called as
.(A) Ginning ~Delinting
(C) Seed hardening (D) Seed.disinfection

. .
u(i9i!;i51u51Ql G!\l601iD@"I- LDWiJ)/Lb<fI!DJlU~601W"601GTT )!j';;@iLb @601iD';;@i QUlUrT <rr6&r.6<I?
(A)

(C)
(U(i9i!;i51.;;) Q"rrL601L )!j';;@iiDQl

G!\l601iD""1-6<1U U (biiiii91iDQl
(B) (G!\l601iDu5IQ\l(i9,mi91) U~6016 )!j';;@iiDQl

(D) G!\l601iDQiDrrWiJ)/)!jffi@iiDQl

183. Based qn the pollination behaviour of the crop. Identify the odd one:
(A) Sorghum (B) . Red gram
(C) Cotton ¥ Pearl millet.

LD"I)",miD"G6rTffi601"601lU ~"I-uu601LlUrr"ffi Q"rr6liM(bi. LDrriJ)/uLL Uu5I6011)",,6liML!DJlU6ijLb.

(A) G6rrGTTLb . (B) i916U6011)"

(C) u(i9~i51 (D) "Lby .

(

.~ I, III and IV

(D) I, II, III and IV

.184. Identify the medium! media used in the Trichoderma production unit
. I. Potato Dextrose Agar
II. Nutrient Agar
III. Trichoderma Special Medium
IV. Molasses Yeast Extract Medium
(A) III and IV
(C) I and IV

"I-601I)"ffiG"rrQLrTLDrr ,,-wuiiii51 ""-ui>J,,ffilQl ulU6&ru(biiiiiDu(biLb ",nL"Lb/ "'DLIl;ri>J"60161I ,,6liM(bit5l"l-.

I. "-(i9601GTTffi.$lWri>J@iQLffi.roGl)"rr.ro ';';'L"Lb

II. "Lwurr<fl "'DLL"6!bi91 "'DL"tb

III. "I-601I)"ffiG"rrQLrTLDrr <fIiDuy "'DL"Lb

IV.. 6rTffi"6011)"~6016U."~6ljUurr@i Il'.roL 6U"I-6rriJ)/."'DL"Lb

(A) . III LDIDiJ)/LbIV (B) I, III LDIDiJ)/LbIV
(C) I LDWWLb IV (D) . I, II; III LDWiJ)/LbIV
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Which of the followingYojana of Government of India entered the Guiness World records in

2014.
I
\

I

185.

(A) PMKSY

(C) RKVY

/PMJDY

(D) SAGY

2014 ~w ~@lrrI<j.GiJ$G\9 QffiIT(i)ili;ffiuuL(i)i6ITm '")ill" lD~;@UJ ~W51601 ;@LLlDIT6<1i91$16016<100"-Q)ffi IfITI"",,6<1

uLI<j.UJ6ISIGiJ~Llb QUrDDJi9I.

186. SFC stands for

.~ State Finance Corporation

(C) Small Fertilizers Corporation

SFC -@)JDluui9I

(A) , lDIT~Q) ~;@ ~IlJlQJ6<1W

(C) 511lJl"-~ ~IlJlQJ6<1W

187. The Largest Commercial Bank in India is
.

(A) Indian Overseas Bank

~ State Bank of India

~)il;@UJIT61S16inuIlffiU Q U iIlUJQJaof1ffiQJffiJ$1

(A) ~)il;@UJ6in ~QJirgoo QJffiJ$1

(e) urrOI" ooGLL UITIT,,1i;

o

(B) t.SI.,"w G1lJ.I<j..91iJ

(D) '"OO.'"1Jl191iJ

(B) Small Farmers Corporation

(D) Small Farmers Centre

(B) 511lJl~QJIfITu5I ~IlJlQJ6<1W

(D) 511lJl61S1QJIfITUJ""lDUJW

(B) Indian Bank

(D) Bank of India

(B) ~)il;@UJ6in QJffiJ$1

(D) UITffiJli;~ooou ~)il;@UJIT
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From the year 2009-10, the pricing policy followed for sugarcane is188.

(A) Minimum Support Price (MSP)

(C) Issue Price (IP)

(B) Statutory Minimum Price (SMP)

..JIll{" Fair and Remunerative Price (FRP)

!
1-

(A) @)mW.!b!!iuLIf ~~IT~ G>SlmQ) (MSP)

.(C) GUW""&GU G>SlmQ) (IP)

(B) IfLL\,j,irGULDIT6M @)mW.!b!!iuLIf 6lS)mQ) (SMP)

(D) )£iUJITUJ LDtilWU:>IfmLDIT6M 6lS)mQ) (FRP)
. t

. 189. Full form ofPACS

~ Primary Agrl. Co-opera:tive Society

(B) Primary Agricultural Credit Society

(C) People and Crop Scheme

(D) Primary Agricultural Crop Scheme

(A) Q!!iITLB;& G:GUG!TITOO'mLD8il.L(i)lWGlj 1f""&U:> (B) Q!!iITLB;& G:GUroITOO'.)£i@IJmGU 1f""&U:>

(C) LDB;&GTrLDtilWU:>uuSlir ~LLU:> (D) QlbITLB;& G:GUG!TITOO'uuSlir ~LLlil

190. Food corporation of India was started on January 1,

,-
I

..A" 1965

(C) 1985

(B) 1975

(D) 1995

(A)

(C)

AAODI19

1965

1985
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(D) 1995
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Participatory Rural Appraisal is directly related to which division

,(A) Agricultural Economics ~ Agricultural Extension

(
J

. 191.

(C) Agricultural Microbiology (D) Agricultural Statistics

(A) 1925

(C) 1945

(B) 1935

(D). 1955

193. Which agency supplies qnly long term loan to agricultural sector

(A) PACB

(C) RRB

(B) RBI

"" PLDB

o

(A) PACB

(C) RRB

'(B)RBl

(D) PLDB
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"L6l'l6Ul",," .,-rnWJLO Q"llJGUC'POOlrvOOlllJUllJrnUU!15~LO IDILULO .,-~?
(A) LDITIh5l"" (B) ~rn"l- -.albl51llJIT61""

(C) .al6UlGLDQ!j>rn (D) G~"l-""

194. Tweening is a process used in
(A) Morphing
¥ Animation

(B) Anti-aliasing
(D) Shading I

l
l

195. The most common format for storing digitized sound is
~ DVD (B) MIDI
(C) MOU (D) IMG ,I

,

(A) "l-6lS1"l-

(C) "-LO:~\I,j,

(B) "-LO.&"l-.&

(D) &"-LOW

196. .The excel function that returns the sum value from a specified range satisfying a criterion is
(A) SUM VIII'f SUMIF
(C) SUM-RANGE (D) COUNTIF

~(I9@)n5lUt5ILL 6V~LOt5IGU,QB;ITU!B;B;UULL .al6!T6ljGB;ITOOlQ):@(I9u:@ Q"tUlLjLO "-";"B;ffilrn QLDIT15!5LD:@UOOlU
QUIDJ6V!5!DB;ITar "-B;WGU Q"UJGUUITU! .,-~?
(A) SUM
(C) SUM-RANGE

(B) SUMIF
(D) COUNTIF

197. In excel 2007, the maximum number of data points in a data series for 2D charts is
(A) 10000 . ~ 32000 .

(C) 40000 (D) 50000

"-B;WGU 2007 GU,2D 6VOOl~UL""B;~B;B;ITar !5~6lj15 Q!5ITLIT1rn .aI:@B;UL" !5~6lj yGirffilB;Gir

(A) 10000 (B) 32000
(C) 40000 (D) 50000
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198. -----is a giant electronic bulletin board on which users conduct written discussions

about a specificsubject.

\.'

(A) Telnet

(C). Newsforum

~Newsgroup

(D) Chat group

U UJm irffirn ~(Ilj@jr6lLJl5lL..L :'Ji",,@LJl5lci> GfQ:I>~iijI"" IJUJITL ci> G LD!DQ ffiITrn~ LD u5l4r m WJ L.jci>@L.."l-4r @jQ:l>61S14r

QUUJirGfiijl?

(A) QLci>QIDL..

(C) ,@\!d,oo •••GUITIJLD

199. Findthe'odd one out

(A) Internet Explorer

(C) GoogleChrome

(B) ,@\!d,OO@j@U

(D) Chat group

(B) Netscape Navigator

~GMail

(A) ~6WrLirQIDL.. Gf';;OOL.jGGTTITlJir

(C) 8<>.@jrn @jGIJITLD

200. E-Mail refers to

(A) Easy mail

(C) Early mail

(A) rronllQLDu5lci> .

(C) ~UJir6lSl Qlllu5lci>

(B) QIDL..ooGa;u GID61S1GffiL..Lir

(D) i£1Qlllu5lci>'

~ Electronic mail

(D) Electric mail

(B) Gf@';;L..IJIT"\\';; Q IIIu5lci>

(D) Gf@';;L..r\l,;; Qlllu5lci>
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Read the following instrilctionscarefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15minutes beforecommencementof the examination.
This Question Booklet contains 200 questions. Prior to attempting to answer. the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shail be reported to
the Invigilator within first 10 minutes and get it replaced with, a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.
Answer all questions. All questions carry equal marks.
You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. '
An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.,
You will also encode your QuestionBooklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information,action will be taken as per Commission's notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLYONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.
In the Answer Sheet there are four circles 0 '@' @ and @ against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLYONE circle of your choice for,
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, @ is the correct answer, you have to mark as follows:

0.@@
9. You should not remove ,or tear off any sheet from this Question Booklet. You are not allowed to take

this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded you must hand over your Answer Sheet to the
Invigilator. You are allowed to'take the Question Booklet with you only after the Examination is over.

10. Do not. make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for'rough work. This should be strictly adhered.

11. In all matters and in' cases of doubt, the English version is final.
12. Applicants have to write and shade the total number of answer fields left blank on the boxes provided

at side 2 of OMR ,Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blapk.

13. Failure to comply with apy of the above ipstructions willTender you liable to such action or penalty as
the Commission may decide at their discretion.

o

r


